

# Derivation of an Explicit Function in Non-Singular Hamilton Symmetric Matrices of Rank 1 Via Linear Quadratics Inverse Eigenvalue Problem

Oladejo N. K<sup>1</sup>, Anang C. R<sup>2</sup>

*University for Development Studies, Navrongo, Ghana*

**Abstract--** This paper deals with derivation of an explicit function in a non-singular Hamilton symmetric matrices of Rank 1 via linear quadratics inverse eigenvalue problem (LQIEP in the neighborhood of the first type of Hamilton matrices through numerical illustration and examples.

**Keywords:** Explicit, functions, Hamilton, Symmetric, Non-singular, Neighborhood,

## I. INTRODUCTION

Various solvability and solubility of the inverse eigenvalue problem for Hamilton matrices together with numerical examples are systematically reviewed under certain singular and non-singular Hamilton matrices by Oduro et al (2012) and Oduro (2012a, b), Baah Gyamfi (2013) as well as Oladejo et al (2014) and Oladejo et.al (2015). This paper deals with derivation of an explicit function in a non-singular Hamilton symmetric matrices of Rank 1 via linear quadratics inverse eigenvalue problem (LQIEP in the neighborhood of the first type of Hamilton matrices through numerical illustration and examples.

*The linear-quadratic optimal control (LQOC)*

Given that  $A \in \mathfrak{R}^{n \times n}$ ,  $B \in \mathfrak{R}^{n \times m}$ ,  $Q \in \mathfrak{R}^{n \times n} : Q = Q^T \geq 0$  and  $R \in \mathfrak{R}^{m \times m} : R = R^T > 0$  we consider the linear-quadratic optimal control (LQOC) for the functional;

$$I_{x_i}(u) = \int_{t_i}^{t_f} \frac{1}{2} [x(t)^T Q x(t) + u(t)^T R u(t)] dt \quad (1)$$

Subject to differential equation

$$\dot{x}(t) = Ax(t) + Bu(t), t \in [t_i, t_f], x(t_i) = x_i \quad (2)$$

Then the Hamiltonian function is given by:

$$H(p, x, u, t) = \frac{1}{2} [x^T Q x + u^T R u] + p^T [Ax + Bu] \quad (3)$$

Given any optimal input  $u_*$  and the corresponding state  $x_*$  we solve equation (3) which is LQOCP arising from the Pontryagin minimum principle in equation (3)

$$\begin{aligned} \text{Thus: } \frac{\partial H}{\partial u}(p_*(t), x_*(t), u_*(t), t) &= 0 \\ \Rightarrow u_*(t)^T R + p_*(t)^T B &= 0 \end{aligned} \quad (4)$$

$$\text{Then } u_*(t) = -R^{-1} B^T p_*(t) \quad (5)$$

and the adjoint equation is given as:

$$\begin{aligned} \left[ \frac{\partial H}{\partial x}(p_*(t), x_*(t), u_*(t), t) \right]^T \\ = -\dot{p}_*(t), t \in [t_i, t_f], p_*(t_f) = 0 \end{aligned} \quad (6)$$

$$\begin{aligned} \Rightarrow (x_*(t)^T Q + p_*(t)^T A)^T \\ = -\dot{p}_*(t), t \in [t_i, t_f], p_*(t_f) = 0 \end{aligned} \quad (7)$$

We then have;

$$\begin{aligned} \dot{p}_*(t) &= A^T p_*(t) - Q x_*(t), t \in [t_i, t_f] \\ p_*(t_f) &= 0 \end{aligned} \quad (8)$$

Consequently;

$$\begin{aligned} \frac{d}{dt} \begin{bmatrix} x_*(t) \\ p_*(t) \end{bmatrix} &= \begin{bmatrix} A & -BR^{-1}B^T \\ -Q & -A^T \end{bmatrix} \begin{bmatrix} x_*(t) \\ p_*(t) \end{bmatrix}, t \in [t_i, t_f] \\ x_*(t_i) = x_i, p_*(t_f) &= 0 \end{aligned} \quad (9)$$

Equation (9) is a linear, time variant differential equation in  $(x_*, p_*)$

IEP for  $2n \times 2n$  Hamiltonian Matrix of Rank 1 in respect of LQOCP

From equation (9) and the theory of the Linear quadratic optimal control we have the following (Hamilton's Equations):

$$\frac{d}{dt} \begin{bmatrix} x_{\bullet}(t) \\ p_{\bullet}(t) \end{bmatrix} = \begin{bmatrix} A & -BR^{-1}B^T \\ -Q & -A^T \end{bmatrix} \begin{bmatrix} x_{\bullet}(t) \\ p_{\bullet}(t) \end{bmatrix}, t \in [t_i, t_f]$$

$$x_{\bullet}(t_i) = x_i, p_{\bullet}(t_f) = 0 \quad (10)$$

We then consider the case where the Hamiltonian matrix

$$H = \begin{bmatrix} A & -BR^{-1}B^T \\ -Q & -A^T \end{bmatrix} \text{ is } 2n \times 2n \text{ so that } A, Q, BR^{-1}B^T \text{ are all } 2 \times 2 \text{ sub-matrices of } H.$$

Inverse Eigenvalue Problem for a Non-Singular  $4 \times 4$  symmetric matrix Newton's Method

We construct a Characteristic (Polynomial) function of the diagonal elements from the matrix  $2n \times 2n$

$$A = \begin{bmatrix} a_{11} & a_{12} & a_{13} & a_{14} \\ a_{21} & a_{22} & a_{23} & a_{24} \\ a_{31} & a_{32} & a_{33} & a_{34} \\ a_{41} & a_{42} & a_{43} & a_{44} \end{bmatrix} = \begin{bmatrix} a_{11} - \lambda & a_{12} & a_{13} & a_{14} \\ a_{21} & a_{22} - \lambda & a_{23} & a_{24} \\ a_{31} & a_{32} & a_{33} - \lambda & a_{34} \\ a_{41} & a_{42} & a_{43} & a_{44} - \lambda \end{bmatrix}$$

$$X^{(0)} = \begin{bmatrix} a_{11}^{(0)} \\ a_{22}^{(0)} \\ a_{33}^{(0)} \\ a_{44}^{(0)} \end{bmatrix}$$

In other words, consider the function with independent variables defined on 4 selected elements of matrix  $A$ , precisely, the diagonal elements:

$$f(a_{11}, a_{22}, a_{33}, a_{44}) = \lambda^2 - (\text{tr}A)\lambda + \det A$$

$$\left( \begin{aligned} &\lambda^4 - (a_{11} + a_{22} + a_{33} + a_{44})\lambda^3 + (a_{11}a_{22} + a_{11}a_{33} + a_{11}a_{44} + a_{22}a_{33} \\ &+ a_{22}a_{44} + a_{33}a_{44} + a_{34}a_{43} + a_{12}a_{21})\lambda^2 - (a_{11}a_{22}a_{33} + a_{11}a_{21}a_{44} + \\ &a_{11}a_{33}a_{44} + a_{11}a_{33}a_{43} + a_{22}a_{33}a_{44} + a_{11}a_{34}a_{43} - a_{12}a_{21}a_{33} - a_{12}a_{21}a_{44} \\ &- a_{13}a_{21}a_{32} + a_{14}a_{21}a_{42})\lambda + a_{11}a_{22}a_{33}a_{44} - a_{11}a_{22}a_{34}a_{43} - a_{12}a_{21}a_{33}a_{44} \\ &- a_{12}a_{21}a_{34}a_{43} + a_{13}a_{21}a_{32}a_{44} - a_{13}a_{21}a_{34}a_{42} - a_{14}a_{21}a_{43}a_{32} + a_{14}a_{21}a_{42}a_{33} \end{aligned} \right)$$

Thus, given 4 distinct eigenvalues  $\lambda_1, \lambda_2, \lambda_3, \lambda_4$  we have the following four (4) functions with 4 independent variables being the diagonal element of  $A$ .

Thus:

$$f_1(a_{11}, a_{22}, a_{33}, a_{44}) = \left( \begin{aligned} &\lambda_1^4 - (a_{11} + a_{22} + a_{33} + a_{44})\lambda_1^3 + (a_{11}a_{22} + a_{11}a_{33} + a_{11}a_{44} + a_{22}a_{33} \\ &+ a_{22}a_{44} + a_{33}a_{44} + a_{34}a_{43} + a_{12}a_{21})\lambda_1^2 - (a_{11}a_{22}a_{33} + a_{11}a_{21}a_{44} + \\ &a_{11}a_{33}a_{44} + a_{11}a_{33}a_{43} + a_{22}a_{33}a_{44} + a_{11}a_{34}a_{43} - a_{12}a_{21}a_{33} - a_{12}a_{21}a_{44} \\ &- a_{13}a_{21}a_{32} + a_{14}a_{21}a_{42})\lambda_1 + a_{11}a_{22}a_{33}a_{44} - a_{11}a_{22}a_{34}a_{43} - a_{12}a_{21}a_{33}a_{44} \\ &- a_{12}a_{21}a_{34}a_{43} + a_{13}a_{21}a_{32}a_{44} - a_{13}a_{21}a_{34}a_{42} - a_{14}a_{21}a_{43}a_{32} + a_{14}a_{21}a_{42}a_{33} \end{aligned} \right)$$

$$f_2(a_{11}, a_{22}, a_{33}, a_{44}) = \left( \begin{aligned} &\lambda_2^4 - (a_{11} + a_{22} + a_{33} + a_{44})\lambda_2^3 + (a_{11}a_{22} + a_{11}a_{33} + a_{11}a_{44} + a_{22}a_{33} \\ &+ a_{22}a_{44} + a_{33}a_{44} + a_{34}a_{43} + a_{12}a_{21})\lambda_2^2 - (a_{11}a_{22}a_{33} + a_{11}a_{21}a_{44} + \\ &a_{11}a_{33}a_{44} + a_{11}a_{33}a_{43} + a_{22}a_{33}a_{44} + a_{11}a_{34}a_{43} - a_{12}a_{21}a_{33} - a_{12}a_{21}a_{44} \\ &- a_{13}a_{21}a_{32} + a_{14}a_{21}a_{42})\lambda_2 + a_{11}a_{22}a_{33}a_{44} - a_{11}a_{22}a_{34}a_{43} - a_{12}a_{21}a_{33}a_{44} \\ &- a_{12}a_{21}a_{34}a_{43} + a_{13}a_{21}a_{32}a_{44} - a_{13}a_{21}a_{34}a_{42} - a_{14}a_{21}a_{43}a_{32} + a_{14}a_{21}a_{42}a_{33} \end{aligned} \right)$$

$$f_3(a_{11}, a_{22}, a_{33}, a_{44}) = \left( \begin{aligned} &\lambda_3^4 - (a_{11} + a_{22} + a_{33} + a_{44})\lambda_3^3 + (a_{11}a_{22} + a_{11}a_{33} + a_{11}a_{44} + a_{22}a_{33} \\ &+ a_{22}a_{44} + a_{33}a_{44} + a_{34}a_{43} + a_{12}a_{21})\lambda_3^2 - (a_{11}a_{22}a_{33} + a_{11}a_{21}a_{44} + \\ &a_{11}a_{33}a_{44} + a_{11}a_{33}a_{43} + a_{22}a_{33}a_{44} + a_{11}a_{34}a_{43} - a_{12}a_{21}a_{33} - a_{12}a_{21}a_{44} \\ &- a_{13}a_{21}a_{32} + a_{14}a_{21}a_{42})\lambda_3 + a_{11}a_{22}a_{33}a_{44} - a_{11}a_{22}a_{34}a_{43} - a_{12}a_{21}a_{33}a_{44} \\ &- a_{12}a_{21}a_{34}a_{43} + a_{13}a_{21}a_{32}a_{44} - a_{13}a_{21}a_{34}a_{42} - a_{14}a_{21}a_{43}a_{32} + a_{14}a_{21}a_{42}a_{33} \end{aligned} \right)$$

$$f_4(a_{11}, a_{22}, a_{33}, a_{44}) = \left( \begin{aligned} &\lambda^4 - (a_{11} + a_{22} + a_{33} + a_{44})\lambda^3 + (a_{11}a_{22} + a_{11}a_{33} + a_{11}a_{44} + a_{22}a_{33} \\ &+ a_{22}a_{44} + a_{33}a_{44} + a_{34}a_{43} + a_{12}a_{21})\lambda^2 - (a_{11}a_{22}a_{33} + a_{11}a_{21}a_{44} + \\ &a_{11}a_{33}a_{44} + a_{11}a_{33}a_{43} + a_{22}a_{33}a_{44} + a_{11}a_{34}a_{43} - a_{12}a_{21}a_{33} - a_{12}a_{21}a_{44} \\ &- a_{13}a_{21}a_{32} + a_{14}a_{21}a_{42})\lambda + a_{11}a_{22}a_{33}a_{44} - a_{11}a_{22}a_{34}a_{43} - a_{12}a_{21}a_{33}a_{44} \\ &- a_{12}a_{21}a_{34}a_{43} + a_{13}a_{21}a_{32}a_{44} - a_{13}a_{21}a_{34}a_{42} - a_{14}a_{21}a_{43}a_{32} + a_{14}a_{21}a_{42}a_{33} \end{aligned} \right)$$

*Derivation of an Explicit Formula for the Jacobian in the 4 × 4 matrices case*

$$\begin{aligned} \frac{\partial f_1}{\partial a_{11}} &= -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_1(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \frac{\partial f_1}{\partial a_{22}} &= -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_1(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) \\ \frac{\partial f_1}{\partial a_{33}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_1(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \frac{\partial f_1}{\partial a_{44}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_1(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \frac{\partial f_2}{\partial a_{11}} &= -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_2(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \frac{\partial f_2}{\partial a_{22}} &= -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_2(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) \\ \frac{\partial f_2}{\partial a_{33}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_2(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \frac{\partial f_2}{\partial a_{44}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_2(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \frac{\partial f_3}{\partial a_{11}} &= -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_3(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \frac{\partial f_3}{\partial a_{22}} &= -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_3(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) \\ \frac{\partial f_3}{\partial a_{33}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_3(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \frac{\partial f_3}{\partial a_{44}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_3(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \frac{\partial f_4}{\partial a_{11}} &= -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_4(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \frac{\partial f_4}{\partial a_{22}} &= -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_4(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) \\ \frac{\partial f_4}{\partial a_{33}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_4(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \frac{\partial f_4}{\partial a_{44}} &= -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_4(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \end{aligned}$$

$$J = \begin{bmatrix} \frac{\partial f_1}{\partial a_{11}} & \frac{\partial f_1}{\partial a_{22}} & \frac{\partial f_1}{\partial a_{33}} & \frac{\partial f_1}{\partial a_{44}} \\ \frac{\partial f_2}{\partial a_{11}} & \frac{\partial f_2}{\partial a_{22}} & \frac{\partial f_2}{\partial a_{33}} & \frac{\partial f_2}{\partial a_{44}} \\ \frac{\partial f_3}{\partial a_{11}} & \frac{\partial f_3}{\partial a_{22}} & \frac{\partial f_3}{\partial a_{33}} & \frac{\partial f_3}{\partial a_{44}} \\ \frac{\partial f_4}{\partial a_{11}} & \frac{\partial f_4}{\partial a_{22}} & \frac{\partial f_4}{\partial a_{33}} & \frac{\partial f_4}{\partial a_{44}} \end{bmatrix} \Rightarrow \begin{bmatrix} -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_1(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_1(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_1(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_1(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \lambda_1(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & \lambda_1(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & \lambda_1(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \lambda_1(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_2(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_2(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_2(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_2(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \lambda_2(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \lambda_2(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & \lambda_2(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \lambda_2(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_3(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_3(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_3(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_3(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \lambda_3(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \lambda_3(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & \lambda_3(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \lambda_3(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) \\ -\lambda^3 + \lambda^2(a_{22} + a_{33} + a_{44}) - \lambda_4(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{33} + a_{44}) - \lambda_4(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{44}) - \lambda_4(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & -\lambda^3 + \lambda^2(a_{11} + a_{22} + a_{33}) - \lambda_4(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \\ \lambda_4(a_{22}a_{33} + a_{33}a_{44} + a_{22}a_{44}) & \lambda_4(a_{11}a_{33} + a_{33}a_{44} + a_{11}a_{44}) & \lambda_4(a_{11}a_{22} + a_{22}a_{44} + a_{11}a_{44}) & \lambda_4(a_{11}a_{22} + a_{22}a_{33} + a_{11}a_{33}) \end{bmatrix}$$

Thus

Computing the Determinant we get

$$\begin{aligned} trA &= \\ (-\lambda_1 + a_{22})(-\lambda_2 + a_{11}) - (-\lambda_1 + a_{11})(-\lambda_2 + a_{22}) \\ \Rightarrow Det. &= (\lambda_1 - \lambda_2)(a_{22} - a_{11}) \end{aligned}$$

And the inverse of the Jacobian matrix is given as:

$$J^{-1} = \frac{1}{(\lambda_1 - \lambda_2)(a_{22} - a_{11})} \begin{bmatrix} a_{22} - \lambda_1 & a_{11} - \lambda_1 \\ a_{22} - \lambda_2 & a_{11} - \lambda_2 \end{bmatrix}$$

Note that the existence of the inverse of the Jacobian matrix requires that both the target eigenvalues and the diagonal elements of the starting matrix be distinct.

While the  $(n+1)$ th iteration of the Newton's method is given by the following recursive relation

$$X^{(n+1)} = X^{(n)} - J^{-1}(X^{(n)}) \underline{f}(X^{(n)})$$

Under these conditions, the first step of Newton's method is given

$$\begin{bmatrix} a_{11}^{(1)} \\ a_{22}^{(1)} \end{bmatrix} = \begin{bmatrix} a_{11}^{(0)} \\ a_{22}^{(0)} \end{bmatrix} - \frac{1}{Det} \begin{bmatrix} a_{22}^{(0)} - \lambda_1 & a_{11}^{(0)} - \lambda_1 \\ a_{22}^{(0)} - \lambda_2 & a_{11}^{(0)} - \lambda_2 \end{bmatrix} \begin{bmatrix} a_{11}^{(0)} \\ a_{22}^{(0)} \end{bmatrix}$$

#### Numerical Examples

Given that the IEP to be solved is to determine completely the nonsingular symmetric coefficient of  $2n \times 2n$  matrix of the system

$$\begin{aligned} \dot{x}_1 &= a_{11}x_1 + 2x_2 + 3x_3 + 4x_4 \\ \dot{x}_2 &= 2x_1 + 4a_{22}x_2 - 6x_3 + 8x_4 \\ \dot{x}_3 &= 3x_1 - 6x_2 + 9a_{33}x_3 + 12x_4 \\ \dot{x}_4 &= 4x_1 + 8x_2 + 12x_3 + 16a_{44}x_4 \end{aligned}$$

$$A \Rightarrow \begin{bmatrix} 1 & 2 & 3 & 4 \\ 2 & 4 & -6 & 8 \\ 3 & -6 & 9 & 12 \\ 4 & 8 & 12 & 16 \end{bmatrix}$$

For Non Singular  $2 \times 2$  symmetric matrices case

$$\begin{aligned} \dot{x}_1 &= a_{11}x_1 + 2x_2 \\ \dot{x}_2 &= 2x_1 + 4a_{22}x_2 \end{aligned}$$

Given the eigenvalues  $\lambda_1 = -1, \lambda_2 = 3$ . i.e. we let the target solution of the form

$$x = c_1 u e^{-t} + c_2 v e^{3t}$$

$$\text{Assuming the initializing matrix } \begin{bmatrix} 1 & 2 \\ 2 & 4 \end{bmatrix}; X^{(0)} = \begin{bmatrix} 1 \\ 4 \end{bmatrix}$$

Moreover,  $A^{(0)}$  is singular

with  $k = 2, a_{11} = 1, \lambda = trA^{(0)} = 5$

Computing the values of the functions at the initial point:

$$\begin{aligned} f_1(a_{11}, a_{22}) &= \lambda_1^2 - (a_{11} + a_{22})\lambda_1 + (a_{11}a_{22} - a_{12}^2) \\ f_2(a_{11}, a_{22}) &= \lambda_2^2 - (a_{11} + a_{22})\lambda_2 + (a_{11}a_{22} - a_{12}^2) \\ f(X^{(0)}) &= \begin{bmatrix} 6 \\ -6 \end{bmatrix} \end{aligned}$$

The inverse of the Jacobian matrix yields:

$$J^{-1} = \frac{1}{Det} \begin{bmatrix} -2 & -2 \\ 1 & 5 \end{bmatrix} = -\frac{1}{12} \begin{bmatrix} -2 & -2 \\ 1 & 5 \end{bmatrix}$$

Substituting into the Newton's equation,

$X^{(n+1)} = X^{(n)} - J^{-1}(X^{(n)}) \underline{f}(X^{(n)})$  we get:

$$\begin{aligned} X^{(0)} &= \begin{bmatrix} 1 \\ 4 \end{bmatrix} + \frac{1}{12} \begin{bmatrix} -2 & -2 \\ 1 & 5 \end{bmatrix} \begin{bmatrix} 6 \\ -6 \end{bmatrix} \\ \Rightarrow \begin{bmatrix} 1 \\ 4 \end{bmatrix} + \begin{bmatrix} 0 \\ -3 \end{bmatrix} &= \begin{bmatrix} 1 \\ 1 \end{bmatrix} \quad \Rightarrow X^{(1)} = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \end{aligned}$$

$$\text{Thus: } A(X^1) = \begin{bmatrix} 1 & 2 \\ 2 & 1 \end{bmatrix}$$

*Non Singular  $2n \times 2n$  Symmetric Matrices case*

Suppose the IEP to be solved is to determine completely the nonsingular  $4 \times 4$  symmetric coefficient matrix of the system

$$\dot{x}_1 = a_{11}x_1 + 2x_2 + 3x_3 + 4x_4$$

$$\dot{x}_2 = 2x_1 + 4a_{22}x_2 + 6x_3 + 8x_4$$

$$\dot{x}_3 = 3x_1 + 6x_2 + 9a_{33}x_3 + 12x_4$$

$$\dot{x}_4 = 4x_1 + 8x_2 + 12x_3 + 16a_{44}x_4$$

Given the eigenvalues  $\lambda_1 = 1, \lambda_2 = 1, \lambda_3 = 3, \lambda_4 = 5$   
i.e. We let the target solution of the form

$$x = c_1ue^t + c_2ve^{2t} + c_3we^{5t}$$

Given the initializing matrix  $A = \begin{bmatrix} 1 & 2 & 3 & 4 \\ 2 & 4 & 6 & 8 \\ 3 & 6 & 9 & 12 \\ 4 & 8 & 12 & 16 \end{bmatrix}$ ;

$$X^{(0)} = \begin{bmatrix} 1 \\ 4 \\ 9 \\ 16 \end{bmatrix}$$

Here,  $A^{(0)}$  is singular while  
 $k_1 = 2, k_2 = 3, k_3 = 4, a_{11} = 1$  and  $\lambda = trA^{(0)} = 30$   
We compute the values of the functions at the initial point:

Thus;  $f(X^{(0)}) = \begin{bmatrix} -28 \\ -28 \\ 10 \\ 112 \end{bmatrix}$  and

$$J = \begin{bmatrix} -11 & -8 & -12 & -6 \\ 35 & -8 & -12 & -6 \\ -3 & -6 & -12 & -6 \\ 5 & -20 & -20 & -30 \end{bmatrix}$$

Estimating determinant and substituting into the Newton's equation yielded

$$X^{(1)} = \begin{bmatrix} 1 \\ 4 \\ 9 \\ 16 \end{bmatrix} - \frac{1}{23040} \begin{bmatrix} -11 & -35 & -3 & 5 \\ -8 & -8 & -6 & -20 \\ -12 & -12 & -12 & -20 \\ -6 & -6 & -6 & 30 \end{bmatrix} \begin{bmatrix} -28 \\ -28 \\ 10 \\ 112 \end{bmatrix}$$

$$X^{(1)} = \begin{bmatrix} 1 \\ 4 \\ 9 \\ 16 \end{bmatrix} - \begin{bmatrix} 0.0672 \\ -0.0803 \\ -0.0733 \\ 0.1578 \end{bmatrix} = \begin{bmatrix} 1.0672 \\ 4.0803 \\ 9.0733 \\ 15.8422 \end{bmatrix}$$

Hence,

$$A(X^{(1)}) = \begin{bmatrix} 1.067 & 2 & 3 & 4 \\ 2 & 4.080 & 4 & 8 \\ 3 & 6 & 9.073 & 12 \\ 4 & 8 & 12 & 15.842 \end{bmatrix}$$

## II. CONCLUSION

Various theoretical results have been systematically reviewed and discussed in respect of the inverse eigenvalue problem (IEP). Based on these results we developed the derivation of an explicit function in non-singular Hamilton symmetric matrices of Rank 1 via linear quadratics inverse eigenvalue problem (LQIEP in the neighborhood of the first type of Hamilton matrices through numerical illustration and examples.

## REFERENCES

- [1] S P. Bhattacharyya. Linear control theory; structure, robustness and optimization Journal of control system, robotics and automation. CRS Press Vol IX. (1991) San Antonio Texas.
- [2] D Boley and G.H Golub. A survey of matrix inverse eigenvalue problem. Inverse Problems. Vol,3(1987).595-622
- [3] Y.F. Cai, et.al. Solutions to a quadratic inverse eigenvalue problem, Linear Algebra and its Applications. Vol. 430 (2009) 1590-1606
- [4] B.N Datta and D.R Sarkissian. Theory and computations of some inverse eigenvalue problems for the quadratic pencil. Journal of Contemporary Mathematics, Vol.280 (2004). 221-240.
- [5] J.O.A.O Miranda. Optimal Linear Quadratic Control. Control system, Robotics and Automation. Vol. VIII INESC/JD/IST, R.Alves, Redol 9.1000-029.Lisboa, Portugal.
- [6] F.T Oduro. et.al. Solvability of the Inverse eigenvalue problem for Dense Symmetric Matrices. Advances in Pure Mathematics, Vol.3,(2012) 14- 19.



## **International Journal of Emerging Technology and Advanced Engineering**

**Website: [www.ijetae.com](http://www.ijetae.com) (ISSN 2250-2459, ISO 9001:2008 Certified Journal, Volume 6, Issue 7, July 2016)**

- [7] N.K Oladejo, F.T Oduro, and S.K Amponsah. An inverse eigenvalue problem for optimal linear quadratic control. International Journal of Mathematical Archive.5(4), (2014) 306-314
- [8] Y.M Ram and El-Gohary. An inverse eigenvalue problem for the symmetric tridiagonal quadratic pencil with application of damped oscillatory systems' SIAM Journal of Applied Mathematics., Vol. 56; (1996).232–244.
- [9] S J Wyss, H Liu., and G.G Yin. Generalized eigenvalue problem algorithms and software for algebraic Riccati equations. Proc. IEEE, 72(12) (2012):1746-1754.
- [10] C.K Yuen, T.C Moody and W.L Wen, On inverse quadratic eigenvalue problems with partially prescribed eigenstructure' SIAM Journal of Matrix Analysis and Application, Vol.25 (2004) pp 995-1020.

Corresponding author's email [oladejonath@yahoo.com](mailto:oladejonath@yahoo.com)